



INTERIORS FOR BUSINESS, INC.  
 409 N. River Street  
 Batavia, Illinois, 60510  
 630.761.1070 Main  
[www.interiorsforbusiness.com](http://www.interiorsforbusiness.com)

**CUSTOMER** City of Aurora  
 44 E Downer Place  
 Aurora, IL 60505

**WORKPLACE CONSULTANT** Carol Kase x57  
**CUSTOMER SERVICE** Kris Kolek x22  
**DESIGNER** Kaitlyn Turnowchyk x36  
**DESIGNER** Megan Quinn x59  
**CLIENT SERVICES** McKenzie Phillips x60

**DATE** 2/4/2026  
**TERMS** 50% Deposit / Net 15  
**PROJECT** River Edge Park Furniture Budget

SEQ #	QTY	DESCRIPTION	AMOUNT	EXTENDED
		Steelcase Sourcewell Contract #091423-STI Maturity Date: 12/4/2027 Applies to Steelcase, AMQ, West Elm, Moooi		
		9-5 Seating Omnia Partners Contract Contract #07-73 Valid: 12/17/2024-12/31/2027		
		Sit-On-It Seating Omnia Partners Contract Contract # R240104 Valid: 12/17/2024-12/31/2027		
		Grand Rapids Chair Company Omnia Partners Contract Contract #07-92 Effective Until: 9/30/2030		
		Venue Industries TIPS Contract Contract # 210305 Expiration 5/31/2026		
		JSI Omnia Partners Contract Contract# R240107 Valid: 12/17/2024-12/31/2027		
		OFS Sourcewell Contract Contract # 091423-OFS Maturity Date: 12/4/2027		
		Via Seating Omnia Partners Contract Contract Period: 9/1/2022-9/30/2026		
		<b>Backstage Building - First Floor Security</b>		
CH-01	2	AMQ Personality Plus Chair	410.64	821.28
		<b>Backstage Building - First Floor Prod Mgmt A108 and A110</b>		
DK-01	2	Steelcase Currency Desk	1,050.06	2,100.12
CH-01	2	AMQ Personality Plus Chair	410.64	821.28
CH-02	12	Steelcase Move Chair	239.79	2,877.48
TB-01	2	Steelcase Currency Table - 30" Round	419.55	839.10
		<b>Backstage Building - First Floor Runner Office A104C</b>		
LC-01	3	9 to 5 Lilly Lounge Chair	1,126.22	3,378.66
TB-02	2	Sit-On-It Parrallon Table Side Table	679.31	1,358.62
LK-01	4	Steelcase Lockers	859.38	3,437.52



INTERIORS FOR BUSINESS, INC.  
 409 N. River Street  
 Batavia, Illinois, 60510  
 630.761.1070 Main  
[www.interiorsforbusiness.com](http://www.interiorsforbusiness.com)

**CUSTOMER** City of Aurora  
 44 E Downer Place  
 Aurora, IL 60505

**WORKPLACE CONSULTANT** Carol Kase x57  
**CUSTOMER SERVICE** Kris Kolek x22  
**DESIGNER** Kaitlyn Turnowchyk x36  
**DESIGNER** Megan Quinn x59  
**CLIENT SERVICES** McKenzie Phillips x60

**DATE** 2/4/2026  
**TERMS** 50% Deposit / Net 15  
**PROJECT** River Edge Park Furniture Budget

SEQ #	QTY	DESCRIPTION	AMOUNT	EXTENDED
<b>Backstage Building - First Floor Meet and Greet A102</b>				
TB-02	1	Sit-On-It Parrallon 30 x 48 Table	1,047.65	1,047.65
CH-02	4	Steelcase Move Chair	239.79	959.16
<b>Backstage Building - First Floor Dining Lounge A104</b>				
TB-04	2	Sit-On-It Parrallon Dining Table 108 x 30	1,602.76	3,205.52
TB-03	3	Sit-On-It Parrallon Dining Table 30 x 60	781.14	2,343.42
CH-03	28	Grand Rapids Reece Café Chair	433.95	12,150.60
LC-02	8	9 to 5 Lilly Side Chair	965.84	7,726.72
TB-05	1	Sit-On-It Parrallon 42" Diameter Table	674.85	674.85
TB-02	1	Sit-On-It Parrallon Side Table	679.31	679.31
ST-01	7	Grand Rapids Chair Reece Barstool	441.10	3,087.70
<b>Backstage Building - First Floor Outdoor Dining A104A</b>				
OTB-01	4	Venue Faux Wood Outdoor Table 78.75 x 35.5	2,170.94	8,683.76
OCH-01	20	Venue Faux Wood Outdoor Café Chair	541.28	10,825.60
OLC-01	6	Venue All Weather Outdoor Lounge Chair - Grade A	1,321.60	7,929.60
OTB-03	1	Venue All Weather Outdoor Side Table	853.20	853.20
OTB-04	1	Venue All Weather Outdoor Coffee Table	1,134.05	1,134.05
<b>Backstage Building - Second Floor Green Room A202</b>				
LC-03	6	West Elm Willow Lounge Swivel Chair	1,851.14	11,106.84
TB-02	3	West Elm Maisie Side Table	598.95	1,796.85
TB-06	1	JSI Poet Coffee Table 48" Round	1,262.45	1,262.45
SF-01	2	JSI Poet Three Seat Sofa	5,092.15	10,184.30
TB-01	1	Steelcase Universal 30" Round Meeting Table	419.55	419.55
TB-06	1	JSI Indie Round Table	690.62	690.62
CH-02	2	Grand Rapids Harper Guest Chair	384.06	768.12
<b>Backstage Building - Second Floor Dressing Room 1 A205</b>				
ST-02	1	OFS Blueprint Make Up Stool	977.80	977.80
LC-03	3	West Elm Willow Lounge Swivel Chair	1,851.14	5,553.42
TB-02	3	West Elm Maisie Side Table	598.95	1,796.85



INTERIORS FOR BUSINESS, INC.  
 409 N. River Street  
 Batavia, Illinois, 60510  
 630.761.1070 Main  
[www.interiorsforbusiness.com](http://www.interiorsforbusiness.com)

**CUSTOMER** City of Aurora  
 44 E Downer Place  
 Aurora, IL 60505

**WORKPLACE CONSULTANT** Carol Kase x57  
**CUSTOMER SERVICE** Kris Kolek x22  
**DESIGNER** Kaitlyn Turnowchyk x36  
**DESIGNER** Megan Quinn x59  
**CLIENT SERVICES** McKenzie Phillips x60

**DATE** 2/4/2026  
**TERMS** 50% Deposit / Net 15  
**PROJECT** River Edge Park Furniture Budget

SEQ #	QTY	DESCRIPTION	AMOUNT	EXTENDED
TB-06	1	JSI Indie Round Table	690.62	690.62
TB-07	1	JSI Indie Rectanqular Coffee Table	876.48	876.48
SF-01	2	JSI Poet Three Seat Sofa	5,092.15	10,184.30
TB-03	1	Sit-On-It Tensor Table 30 x 60	691.35	691.35
CH-02	2	Grand Rapids Harper Guest Chair	384.06	768.12
<b>Backstage Building - Second Floor Dressing Room 2 A208</b>				
ST-02	1	OFS Blueprint Make Up Stool	977.80	977.80
<b>Backstage Building - Second Floor Dressing Room 3 A210</b>				
ST-02	3	OFS Blueprint Make Up Stool	977.80	2,933.40
LC-03	3	West Elm Willow Lounge Swivel Chair	1,851.14	5,553.42
TB-02	2	West Elm Maisie Side Table	598.95	1,197.90
TB-07	1	JSI Indie Rectangular Coffee Table	876.48	876.48
SF-01	1	JSI Poet Three Seat Sofa	5,092.15	5,092.15
TB-03	1	Sit-On-It Tensor Table 30 x 60	691.35	691.35
CH-02	2	Grand Rapids Harper Guest Chair	384.06	768.12
<b>Backstage Building - Second Floor Dressing Room 4 A212</b>				
ST-02	3	OFS Blueprint Make Up Stool	977.80	2,933.40
LC-03	2	West Elm Willow Lounge Swivel Chair	1,851.14	3,702.28
TB-08	1	Sit-On-It Tensor Table 30 x 72	776.05	776.05
CH-02	5	Grand Rapids Harper Guest Chair	384.06	1,920.30
<b>Backstage Building - Second Floor Dressing Room 5 A214</b>				
ST-02	4	OFS Blueprint Make Up Stool	977.80	3,911.20
LC-03	2	West Elm Willow Lounge Swivel Chair	1,851.14	3,702.28
TB-02	2	West Elm Maisie Side Table	598.95	1,197.90
SF-01	1	JSI Poet Three Seat Sofa	5,092.15	5,092.15
TB-03	1	Sit-On-It Tensor Table 30 x 60	691.35	691.35
CH-02	4	Grand Rapids Harper Guest Chair	384.06	1,536.24
<b>Backstage Building - Second Floor Outdoor Roof Terrace A203</b>				
OTB-03	1	Venue Aluminum Outdoor Dining Table 80 x 40	2,223.41	2,223.41



INTERIORS FOR BUSINESS, INC.  
 409 N. River Street  
 Batavia, Illinois, 60510  
 630.761.1070 Main  
 www.interiorsforbusiness.com

**CUSTOMER** City of Aurora  
 44 E Downer Place  
 Aurora, IL 60505

**WORKPLACE CONSULTANT** Carol Kase x57  
**CUSTOMER SERVICE** Kris Kolek x22  
**DESIGNER** Kaitlyn Turnowchyk x36  
**DESIGNER** Megan Quinn x59  
**CLIENT SERVICES** McKenzie Phillips x60

**DATE** 2/4/2026  
**TERMS** 50% Deposit / Net 15  
**PROJECT** River Edge Park Furniture Budget

SEQ #	QTY	DESCRIPTION	AMOUNT	EXTENDED
OTB-02	2	Venue Aluminum Outdoor Dining Table 64 x 36	1,875.52	3,751.04
OCH-01	20	Venue Aluminum Sling Outdoor Café Chair	628.74	12,574.80
OLC-01	10	Venue Outdoor Bucket Armchair	1,446.37	14,463.70
OTB-04	4	Venue Outdoor Round Coffee Table	1,071.86	4,287.44
<b>Beverage Pavillion - First Floor Office B107</b>				
CH-01	5	AMQ Personality Plus Chair	410.64	2,053.20
<b>Beverage Pavillion - Second Floor Roof Deck B201</b>				
OTB-05	15	Via Seating Oreka Outdoor Bar Height Table 30" Round	1,466.52	21,997.80
OST-01	24	Via Seating Eclipse Wired Outdoor Barstool	561.66	13,479.84
<b>South Gate - D101</b>				
CH-01	5	AMQ Personality Plus Chair	410.64	2,053.20
<b>Freight</b>				
Freight	1	Freight for Furniture	6,298.89	6,298.89
<b>Tariff Surcharges</b>				
Tariff	1	Tariff Surcharges	6,689.51	6,689.51
<b>Labor</b>				
Labor	1	Prevailing Wage Labor to Receive, Deliver, and Install above furniture during normal business hours Monday through Friday. Work to be done in one phase.	20,968.94	20,968.94

**Notes**  
 Finishes and Fabrics will be noted in the final lookbook.

**Estimated Leadtimes: 5-12 Weeks (subject to change)**

**TARIFF STATEMENT**

The quoted prices are based on current laws and regulations. If these change and increase costs, IFB reserves the right to adjust prices accordingly. Any such price adjustments will be communicated and supported by relevant documentation.

To accept this order please sign and return.

X

Print Name:

PO Number:

Storage fees are included for the first 30 days from receipt of product

Product stored longer than 30 days will result in storage fees

Deposit required at time of order - Leasing options available - This quote is valid for 30 days

<b>Material</b>	251,830.58
	-
<b>Sales Tax 8.00%</b>	-
<b>Freight</b>	6,298.89
<b>Labor</b>	20,968.94
<b>Design</b>	-
<b>Surcharge</b>	-
<b>TOTAL \$</b>	279,098.41